Bridgeclub Lier *** ClubTornooi *** 4 giften per ronde *** 10/12/2019 NZ OW |gift 1 NZ OW gift 2 NZ OW gift 3 NZ OW gift 4 NZ OwW

1 De Neef Maria-Dierckx Jeanine 2 Aerts Danny-Cle Hilda 1 2 5 7 —-450 W4H+1 4 8 120 NIN+1 7 5 140 Z2S+1 3 9 -650 W4s+1

3 Van Uffelen Marc-Jeunen Carine 4 De Cat Raf-Hens Jan 3 6 5 7 -450 W4H+1 9 3 140 N2H+1 11 1 170 z2s+2| 12 0 100 W4s-1

5 Mertens Monique-Schoofs Ghislaine 6 Van Linden Marina-De Maeyer Connie 5 10 5 7 —450 WAH+1 9 3 140 7z3H= 0 12 -50 Z745-1 3 9 —650 WAS+1

7 Van den Bergh Anke-Mistiaen Kristien 8 Mistiaen Dierik-Van den Eynde Dries 9 14 12 0 -150 N3N-3 9 3140 72141 4 8 110 z25= 8 4 —620 WaS=

9 Joris Christiaan-Taeymans Eddy 10 Verleyen Leentje-Smet Hilde

11 Carrette Patrick-Van Velthoven Walte 12 Wolput Wim-Van den Bossche Johan °o > 7as0 maned bt mro0 aanet 2 10 0 FAS 0 12 71960 oz

13 De Meyer Theo-Theeuws Luc 14 Janssens Geert-Laeremans Ilse 18 ° 77450 odHl 9 3 140 z2H+d 1 L 170 z2s+2 8 4 7620 mWas=

15 Ceulemans Freddy-Claessens Lieve 16 Bye 13 12 5 7 -450 W4H+1 1 11 -100 z4H-1 7 5 140 Z2s+1 8 4 -620 W4s=

Bye

NZ OW |gift 5 NZ OW gift 6 NZ OW gift 7 NZ OW gift 8 NZ OW NZ OW |gift 9 NZ OW gift 10 NZ OW gift 11 NZ OW gift 12 NZ OW

1 14 0 12 230 N3S+3 5 7 -110 Wwis+1l | 10 2 0 PAS 6 6 0 PAS 1 12 2 10 -710 O4H+3 8 4 100 W2H-1 2 10 100 W2R-2 5 7 -420 W4H=

3 4 9 3 1430 N6H= 2 10 -140 w2s+1 1 11 -200 Z3H-2 6 6 0 PAS Bye

5 8 9 3 1430 N6H= 8 4 -100 Z4H-2 6 6 -100 z2H-1 6 6 0 PAS 5 6 5 7 -680 W4H+2 8 4 100 W3H-1 9 3 400 z3N= 5 7 -420 0O4H=

72 3 9 680 N4H+2 12 0 120 NIN+1| 1 11 -200 Zz2R!-1 6 6 0 PAS 7 10 0 12 -1430 weH= 8 4 100 w4s-1 9 3 400 Z3N= 9 3 =200 z3K!-1
Bye 9 14 | 10 2 -650 W4H+1 0 12 -300 z3N-3 4 8 110 N2K+1 12 0 50 W4H-1

11 6 9 3 1430 N6S= 5 7 =110 W2s= 12 0 110 z2H= 6 6 0 PAS 11 4 10 2 -650 W4H+1 2 10 -200 Z4K-2 0 12 -50 Z3N-1 9 3 -200 Z3K-2

13 10 9 3 1430 N6S= 0 12 -150 Zz4K-3 6 6 -100 N3s-1 6 6 0 PAS 13 2 5 7 -680 W4H+2 4 8 —-140 0O3H= 6 6 210 Z2N+3 0 12 -1700 N4R!-¢

15 12 3 9 680 N4H+2 | 10 2 100 w3s-1 6 6 -100 z3H-1 6 6 0 PAS 15 8 10 2 —-650 W4H+1 12 0 200 Ww3H-2| 12 0 420 z4s= 2 10 -800 Z4K!-3

NZ OW |gift 13 NZ OW gift 14 NZ OW gift 15 NZ OW gift 16 NZ OW NZ OW |gift 17 NZ OW gift 18 NzZ OW gift 19 NZ OW gift 20 Nz OW

1 10 4 8 650 Z4H+1 4 8 -140 O2H+1 8 4 -130 W3R+1 4 8 -50 N2S-1 1 8 1 11 -500 Z5R!-3| 6 6 100 W5R-2 | 10 2 120 Z1N+1 6 6 140 N2H+1

3 14 12 0 710 N4H+3| 11 1 100 w4s-2| 3 9 -400 O3N= 4 8 -50 z3s-1 3 12 12 0 150 O4H-3| 0 12 -120 WIN+1 4 8 90 Z1R+1 12 0 630 N3N+1

5 2 10 2 680 Z4H+2 1 11 -150 OIN+2 12 0 50 W3H-1 8 4 110 z2s8= Bye

7 8 4 8 650 Z4H+1 11 1 100 04s-2| 3 9 -400 W3N= 12 0 470 z2s!= 7 6 6 6 —420 W4s= 2 10 -110 W3R= 10 2 120 Z1N+1 6 6 140 N2H+1

9 12 4 8 650 Z4H+1 1 11 -150 O1N+2 3 9 -400 O3N= 0 12 -100 z3s!-1 9 10 6 6 —420 04s= 12 0 300 WSR!-Zz O 12 -50 Z1N-1 0 12 110 N2H=
Bye 11 2 1 11 -500 z5R!-3| 10 2 170 Z2H+2 | 10 2 120 zIN+1 6 6 140 N2H+1

13 6 4 8 650 Z4H+1 6 6 -90 O1N= 10 2 -120 W2N= 10 2 140 z2s+1 13 4 6 6 —420 W4s= 8 4 140 Z3H= 4 8 90 Z1N= 6 6 140 N2H+1

15 4 4 8 650 Z4H+1 8 4 50 OIN-1 3 9 -400 W3N= 4 8 -50 z2s-1 15 14 | 10 2 100 04H-2 4 8 -90 WIN= 4 8 90 Z1N= 6 6 140 N2H+1

NZ OW |gift 21 NZ OW gift 22 NZ OW gift 23 NZ OW gift 24 NZ OW NZ OW |gift 25 NZ OW gift 26 NZ OW gift 27 NZ OW gift 28 NzZ OW

1 6 0 12 620 z4s= 0 12 -630 O3N+1 11 1 -100 N2s-1 6 6 -50 N3N-1 1 4 9 3 430 Z3N+1 8 4 130 Z3K+1 0 12 -150 N4H-3 | 10 2 0 PAS

3 2 8 4 650 z4S+1 7 5 =130 W3R+1 5 7 -140 O2H+1 1 11 -100 N3N-2 3 8 4 8 300 O3H-3 3 9 -140 W2H+1 3 9 -100 N3H-2 3 9 -200 N3N-2

5 14 8 4 650 z4S+1 3 9 -600 O3N= 11 1 -100 N2S-1| 10 2 130 Z2R+2 5 12 0 12 -100 N4sS-2 3 9 -140 W3H= 8 4 -50 N3H-1 6 6 -110 wW2s=

7 4 8 4 650 z4s+1 | 10 2 -110 W3R= 5 7 -140 O3H= 12 0 400 N3N= Bye

9 8 2 10 630 z3N+1 12 0 -50 z1s-1| 5 7 -140 O3H= 1 11 -100 N3N-2 9 2 9 3 430 N3N+1 0 12 -200 z5K-2 3 9 -100 N4H-2 0 12 -530 W3s!=

11 12 8 4 650 z4s+1 3 9 -600 O3N= 0 12 -170 O3H+1 6 6 -50 N3N-1 11 10 9 3 430 N3N+1 11 1 170 N2s+2| 12 0 110 N2H= 8 4 -100 z3H-1
Bye 13 14 2 10 -50 zZ3N-1 11 1 170 N3S+1 8 4 -50 N4H-1 3 9 -200 N3R-2

15 10 8 4 650 z4S+1 7 5 =130 W3R+1 5 7 -140 O3H= 6 6 -50 N3N-1 15 6 9 3 430 N3N+1 6 6 —110 O3R= 8 4 -50 N4H-1 12 0 110 z2H=




